ENG FORM 3  PAPER 2 MARKING SCHEME.
1. a.The evidence is that consumption per capital is higher by nearly 70%.
Also, life expectancy ,child mortality and educational attainment have improved significantly.(2mks)
b. Although the author lands the progress made, he is not overly impressed by it because more than one billion people in the developing world are living in poverty .There is therefore no room for complacency.(2mks)
c.The author mentions Japan in order to show how far behind sub-Saharan Africa is lagging in terms of life – expectancy.(1mk)
d.What is odd is that the region  accounts for less than a third  of the world’s population and yet nearly half of the world’s poor people  live there .(contrast must be brought out)2mks
e.The relationship between poverty and a high population is that the poor are more likely to have large  families.(1mk)
Such an environment cannot support the  population and this leads to spiraling poverty.(1mk)
f.She/he is also less educated , and has less access to a remunerative activity.(1mk)
g.A girl is twice as much disadvantaged because as a woman ,she has to do more work.Also,she gets less education/fewer opportunities for gainful employment. As a child ,she lacks adequate nutrition, health care and education.(3mks)
h.The author argues that although the developing world has significantly improved economically it has a long way to go, since  many of its people live under absolute poverty. The poverty is unevenly distributed geographically /mostly affects women and children .To combat it, governments need specific information about the poor.

Answers must be in prose
 A max of 60 words accepted.
ii.Staggering-shocking/suprising/astounding/worrying/disappointing.
Compromised –adversely affected
		-undermined
		-Jeopardized.
2. I)At first Obura demonstrates to Nyaroche that he doesn’t want to leave within.
-Later,he informs the mother that he want to see the world.
-Akoko informs her son that her son is restless.
-The chief takes the son for a walk and advises him that its time they looked for a Mikal (4mks)
ii) Characteristics.
Otieno-irresponsible
Keeps on marrying wives yet he depends on his brother.
Jealous-hated his brother with venom.
Owuor-caring /reliable
Treated the wife like a queen and never failed her.
Obura-inquistive /curious
Asks questions to Nyaroche about everything
iii)Styles
Use of local language-Pesa-Jorochere
Contrast-Otieno treated his wives like sluts while Owuor treated hers like a queen
Humour-white people used swift moving little metal houses which had eyes that shone like moon at night.
iv)Obura inquired /asked where one got pesa 
V) didn,t is?
vi)Venom –spite /malice
sluts- prostitute
swiftly-quickly
incomprehensible –not understandable

POETRY
Persona- the parent
"My daughter"

Themes
i)Alienation
Aging western culture/westernization.
(Her skin peeled off).
ii)Religious Hypocrisy
(Priest sinning with a young girl “seen with…. Parish ")
iii) immorality and moral decadence.
Priest and the girl engage in promiscuity when they should not.
iv)Generation conflict:
· The girl ignores wise counsel by claiming she knows more by words” I have been"
(Mark any  two 2x2=4mks)
Identification =1mk
Illustration =1mk
( no mark for illustration without identification)
3. a)The girl is in college whereby she learns of Christ yet she is immoral.
4. i)Simile
"Look like talons"
ii)Nails are also long and scary, looking like the claws of an animal/scavenger.(2mks0
5. Attitude of persona towards Mary.
Identification			Illustration
Spiteful		-The adder
Scornful		-Leper colony
-Tropical ulcer	
Contemptuous		-scavenger
			Hair of dead horse
Disgust		long rotten				Ident-1mk
								Illust-1mk
6. Meaning of words and phrases.
i.Belle-with natural beautiful look     (1mk)
ii)A missing dog hears not the whistle of the hunter(1mk)
Mary ignored any advice given   (1mk)
7. i)Tone of the poem
· Critical –like the adder
· Satirical: Christ knowledge/being seen with parish priest at night in a hotel.
· Disapproving- a missing dog….whistle
· Spiteful-hair of dead horse long rotten/unknown scavenger
(accept any other relevant answer )
Identification-1mk
Illustration-1mk
(no mark for illustration without identification) total 2mks
b)The girl has gone for promiscuity knowing /deliberately engaging in sexual escapades in hidden places.

GRAMMAR
I. The hysterical girl was jumped over by the mouse.
II. The experiment could not be conducted due to inadequacy of testtubes,beakers and burden burners
i)for
ii)from
iii)Under
At the last minute
To be neutral
Having seen them relieve themselves by the roadside, I easily alerted the police to take action.
Being no longer children, I was surprised by their carefree attitude.
Leaving home early, they did not go to their place of work.
Saw-Past tense of see
	-A machine or making wood
Lead-Being in front
	-A metal
Fast- Quick speed
· Go without food
Race – competition especially in athletics 
· Heritage
Draw – to sketch
	-Extact a liquid
Aweful
Insolvable
Informing
Disrespectfully.
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